1/N,, dN,,/dsum p_/dn de [GeV]

Ratio to ATLAS

[EEY

0.5

13000 GeV pp

_| | I I I | I I

B Scalar Z(p_) (ATLAS UE in Z production) i
- m ATLAS —
— --{d-- Herwig 7.2.1 default 1
o ¢ Sherpa 2.2.9 default |
¢ i
BE) -
_\\ B ) —
. Jﬁ?t ?iﬂ‘.‘i |
:l ! ! "‘!’ ¢ li ..... s Ry F.—_.—.!_—__.;_—,!_.,_.__._!__.,,,,,ﬂ,*._______-__ ’F =
=
— : _
C .
B \ g9 eB B
| ’ ‘\\ —
- e -
— \ ,/ —

» \ /'~~~ Ej ’ ---------- ’
S
. s
| L L r | Q I L | LA L 1
0 2 4

sum pT/dr] dp[GeV]

Rivet 3.1.10, = 2.6M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


